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Topic:- GENERAL HINDI

1) CANCELLED

AT FT YY T AT H F Fley wv 82
L. &

2.5

3. 39

4. 32

Correct Answer :-

2) “Faria” Aee A YIFA 3R 3R A Wee F A€ W@ RAweT I
1L +
2.9 + Aid
3.9 + 3end
4.99 + 3d

Correct Answer :-

3) ‘HEAA F g U3, gt A diar & FleT A1 IeFR T2
1. &9
2. tfaR@fd


Lenovo
Stamp

Lenovo
Stamp


4. SCATqHT

Correct Answer :-

4) SYTHIOT H AT HT AT fFH TR 9 AT fFar smar 82

1. €91 dUT 3TURUT & TR W

2. QT TTIl & TR T

3. STl AT 3fedle & TR W
4. fafd qur adslt & TR |
Correct Answer :-

« UscTaell dUT 3Heldle F TR W

5) e 7w e & AT ¥ qAigar aer eeal f 9fFa #r gfAw - FERE
1. gIAIGY, &herE, AYRY, e

Correct Answer :-

6) 3T’ FT AAH e AT HF A FIT W T2

1. aH

2 5fm

3. 3TITH

4, JTATITHeT

Correct Answer :-



7) R & FieT a1 IAN 8?2
1. 3cTAHT A

2. AR THAE

3. FHYURYT A

4. gfqa waTH

Correct Answer :-

. HAURT FATH

8) <fiar =T AT ¥ H T AT e B2
1. 9TgATT

2. HAATT

3. 5590 @ HIS G

4. Shejared

Correct Answer :-

9) ‘3farelt IoTer HeTaY F1 Y T Raeuid § T a1 32
1. QY fAHreraT

2.9 o fAeeleT

3.3 feTerar

4, g I TAHTAT

Correct Answer :-

. QY AT

10) ‘@l SIAT of WA gV & fod U e e & @ Fle7 @7 872
1. 379TFT

2. ITFT



3. AT

4, 3ITHT

Correct Answer :-

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
This television program is for the birds.

1. bird lovers

2. bird watchers

3. Worthless

4. people who are dim witted

Correct Answer :-

o Worthless

2) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

He seems to be harmless. We cannot accuse him of chicanery.
1. violence

2. short-temper

3. theft

4. dishonesty

Correct Answer :-
« dishonesty

3) Out of the following options, choose the most appropriate tense that best fills in to complete the
given sentence:

She a pretty dress to the party.

1. wears



2. wearing
3. wear

4, wore

Correct Answer :-

4) Choose the option that correctly sequences the following sentences.

1. Manufacturers and assemblers dump defective pieces and they produce 1,050 tonnes of
electronic scrap annually.

2. The problem may not be alarming since India has a robust second-hand market for most
electronic gadgets.

3. Though data on e-waste is not easily available, Toxics link, an NGO focusing on toxicity-
related issues, estimates that 1.38 million computers are junked every year in India.

4. There are 85 million TV sets, 20 million mobile handsets and nine million computers in the
country.

5. Not to mention other electronic gadgets like television sets and audio systems that are
routinely junked.

1. 13425
2.31542
3.54231
4.32145

Correct Answer :-

. 31542

5) Out of the following four options, choose the incorrect sentence:
1. Our products is more expensive than other products.

2. Our products are less expensive than other products.

3. All the other products are more expensive than ours.

4. We are selling our products cheaper than others.

Correct Answer :-

 Our products is more expensive than other products.



6) Out of the following options, choose the correct form of adverb for the given sentence:

He speaks English
1. nicely

2. good

3. plainly

4. well

Correct Answer :-

o well

7) Out of the following options, choose the correct form of verb that is in agreement with the
subject for the given sentence:

Standing at the professor's lectern __  two students.
1. 1is

2. has

3. were

4. have

Correct Answer :-

8) Out of the following options, choose the most appropriate usage to fill in the blank:

He has been treated
1. hastily

2. angrily

3. shamefully

4, arrogantly

Correct Answer :-



 shamefully

Topic:- GENERAL KNOWLEDGE

1) Who among the following is NOT a member of Cabinet Committee on Security? /
farafaf@a & @ #la geanr w e afdfa w1 gewr 7@t &2
1. Minister of External Affairs / fae=r AmHa & Hft

2. Minister of Finance / faa #3Y

3. Minister of Law & Justice/ hlolal I = 7

4. Minister of Defence / T&T HAY

Correct Answer :-

« Minister of Law & Justice/ @le]sl I == 7

2) Koneru Humpy is related to which of the following games? /
FA® gFN Arafaf@a & ¥ Fa @ & gafda §7

1. Chess / 2TadaT

2. Badminton / SSf&cat

3. Tennis / T

4, Boxing / ﬂmﬁﬁ

Correct Answer :-

« Chess / qadT

3) Name the Thermal Power project that has been promoted by Madhya Pradesh Power
generating Company at Khandwa district in 2015. /

37 YA 9IaR WiSiFe FT A7 94139, Fd 2015 & #eg yeor & @zar o & fyq qaw
SRFEIT FUel gaRT WewTied A aram §

1. Banas Thermal Power Project / ST UHol UTa} Wloldc
2. Vindhyachal Super Thermal Power Station / Ta&dTdel qa UHT Iray T

3. Shree Singaji Thermal Power Station / #T &S UH A} T



4. Bansagar Power Project / STOTHRR 9y Wiaide

Correct Answer :-
. Shree Singaji Thermal Power Station / Y f&amah UFT IIaX T

4) Name the agency that launched Global Pulses Research Platform near Bhopal on Feb 2016? /

39 TS & AT Td3d S0 $Lad 2016 H AT F I TdlddT Todd REAY CAThE
A& |

1. [IPR

2. CPCRI
3. ICARDA
4. CRRI

Correct Answer :-

« ICARDA

5) Consider the following statements about the Niramaya Scheme of Madhya Pradesh
government. Choose the correct one. /

AT YU WIHR &I AT Ao & AT & Qv 7w AR #9« W TR &%
3R wd Fuer gfaw)

1. The scheme provides different coverage for different disabilities. /

Ig At RAffesT R[araiararst & T 37e91-37619T Falst vereT Hdr &

2. The scheme provides same coverage for the beneficiaries irrespective of the type of disability. /

Ig AT, TAFATIAr & TR I W ATHIIIIT & JHAT Falsl Weld aidl gl
3. Persons with developmental disabilities are not eligible for the scheme. /
AT [asrdeTar3t arer cafed 30 IS & folv I =81 g

4. Certain criteria are mentioned for selection of persons with developmental disability for the scheme.
/

AT & TAT fAhRAT fAheTar arel safedal & adel gd FO ATl &l 3ooid@ fohar
T gl

Correct Answer :-



« The scheme provides same coverage for the beneficiaries irrespective of the type of disability. /

Ig Aotel, [apeiardr & YR & W ATHINAT T AT halsl Yl Hlal ol

6) Carotenes are foundin . /FAET _ HAIRT AT
1. milk / &

2. carrot / MY

3. meat / FTH

4. lemon / a_-ﬁilf\

Correct Answer :-

o carrot / 9Tl

7) To attract the investments into Textile Sector, MP government has provided an interest
subsidy for the textile projects for ___ years at a rate of 5%. /

I a9 # A3 F ST FA & AU, ALy TER o HIs1 TRATSTA31T H 5
yfaerd A T & ant & v sarer afeqst geer $ir g1

1. three / fleT
2. seven / AT
3. eight / 31TS
4. five / 9T

Correct Answer :-

. five /9T

8) How many part-time members are there in the MP State Planning Commission? /
ALY TS AT AT F fFaa oo aeey &2

1. Six / &

2. Eleven / 9gg

3. Five / U

4. Eight / 3TTS



Correct Answer :-

o FEleven /3G

9) Which of the following districts is not a part of the project - “Increasing Adaptive Capacity to
Climate Change through Developing of Climate-Smart Villages” implemented by SKMCCC, EPCO,
Department of Environment, GoMP? /

FrafafEa & ¥ o a1 e, 7oy WReR F rabrai, sikftsh, wafeu fum & grr frafa
%7 -TE il & fABTT & ATeH §RT Faarg gRacd | gl &l 9gH1" URETeHT &7 T 3 g1
1. Sehore / HIgR

2. Bhopal / $TdTel

3. Rajgarh / {TotdTg

4. Satna / €=l

Correct Answer :-

. BhopaI/Sﬂ'qI?vr

10) is the only museum in India which houses contemporary folk and tribal art together
with urban art. /

YR BT THHT TIGTAY & S TUSTCN S SR ST Pl Dl et Hal b A1Y Ggad &

9 @ar gl

1. Anhad / 31<1g¢

2. Vagarth / @3Ter

3. Rangmandal / TTHSA

4. Roopankar / &R

Correct Answer :-

« Roopankar / T

Topic:- GENERAL REASONING

1) Find the missing number: / TG TBAT JTd Be:
26, 37, 50, 65, ; 101

1. 80



2.81
3.82

4.77

Correct Answer :-

- 82

2) Find the average. / 3 Td Td 2
65, 89, 100, 98, 89 & 75

1. 100

2.86

3.89

4. 105

Correct Answer :-
e 86

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination:

/

W &t 1S Y &Rl Ud WSt BT SrIHH TR Bl g Terd Hale Ug |
(i)AY72AS81HR

(ii) AY72AS81HR

(iii) AY7ZASS1HR

(iv) AY72AS81HR

4, 1ii

Correct Answer :-

4) Which one of the following four addresses is NOT EXACTLY same as the one given below?/



farafaf@a e v ar al & § AT Re v od F S+ TA FiT a1 vF 747 &7

2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(i) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(ii) 2 Svkhumvit Soj 57 Klongtan Nua,
Wattona Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(iii) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(iv) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

4, 111

Correct Answer :-

5) A tyre has two punctures. The first puncture alone would have make the tyre flat in 7 minutes
and the second alone would have done it in 4 minutes. If air leaks out at a constant rate, then how
long does it take for both the punctures together to make it flat? /

T® TR § g1 TR €1 3P d Ugd Uk I <R $i 9uTe g1 A 7 e &1 907 avran 2 iR 3dbd goe
TRASA4 e FTTm T IR g T Faa R A TR Rl 8, A SN TR EA W R &
TquTe g1 ¥ fora=r Iwg eim?

11
6 — min ;5ﬂﬁqﬂt
2 2
1. Fey
25 i fziﬁrrrc*
5 11 11



6
3 — min f?rE AT
4 11 11

Correct Answer :-

6 6
7= y Pl
11 d 11

6) IfX and Y are two sets such that n(X) = 23, n(Y) = 39 and n(XUY) = 49, then find n(XNY)./
I X3R Y @ 59 R § & n(X) =23, n(Y)=39 3K a@XUY) =49, @ aXNY)
EIGEET]

1.13

2.10

3.12

4. 11

Correct Answer :-

7) IfA=1,LOT = 47, then MAT =? /
afg A = 1, LOT = 47, df MAT = ?

1. 34

2. 40

3. 66

4. 51

Correct Answer :-

Topic:- PEDAGOGY

1) The law of readiness was formulated by: /

derar & fguia &1 gfauresr fAwr ¥ fFar am



1. Gagne / 3

2. Thorndike / &faisges
3. Pavlov / Yadia

4. Skinner /| THeX

Correct Answer :-

. Thorndike / &lis3H

2) involves thinking reflectively and productively, and evaluating the
evidence. /

# AORATT T q aUT ScUeH T § AT a1 98T F1 Hediha AfAST
gt gl

1. Critical thinking / TgsT RideT

2. Abstract learning / 3/ 3TfERTH
3. Divergent thinking / 3/9&rr ide
4. Reflection / gfdfas

Correct Answer :-

« Critical thinking / 31gsT f&idel

3) Interaction analysis techniques for verbal behaviour have been developed by
.

Aif@® cugerR & v Feanfaar R{edyor awdls ZanT Refa & 718
Y|

1. Gagne / 3=

2. Brown / §13o0

3. Hurtz / &
4. Flanders / wolgq

Correct Answer :-

. Flanders / wolgqg



4) The proponent of Trial and error learning theory was: /
TaeT-3fe e Ry B & garr yeafda frar @ O
1. Kohler / ®lgeR

2. Thorndike / YfasIEs
3. Paviov / Sadia

4. Skinner / TTheX

Correct Answer :-

. Thorndike / "iissH

5) Verbs such as - write, list name and /abel- when used in an examination,
tests the: /

frare 3 - fAwen, g, amr s daer - 99 vE qhem # sEAT @t § @ e &
qdaTor FICAT §:

1. Application level / 39T T
2. Evaluation level / Hedrehel ¥
3. Knowledge level / 3T X

4. Synthesis level / HYUT T
Correct Answer :-

« Knowledge level / 3Tl €T

6) Rewards and punishments serve as: /
R 3R &3 et w7 F 1 Fa §

1. Extrinsic motivation / ST 9RO

2. Intrinsic motivation / 3ARe& 9RoT

3. Achievement motivation / 39elfsdl 9ROT

4. Competence motivation / &7#dT SROT

Correct Answer :-

. Extrinsic motivation / ST 90T



7) Armstrong was the main exponent of .

HTHTEET % AET qfaues I
1. Problem-solving method / §&EaT-ger fafer
2. Demonstration method / 92l fafer

3. Heuristic method / 37T fafer

4. Project method / 9R&Tetar fafer

Correct Answer :-

« Heuristic method / 3JATA fafer

8) Human zygote contains: /

Aq IIAS H Wi &

1.23 pairs of chromosomes / 23 SIS VR
2.21 pairs of chromosomes / 21 Siar CIIES
3.46 pairs of chromosomes / 46 ST IURLEA

4.42 pairs of chromosomes / 42 ST _IUT A

Correct Answer :-
« 23 pairs of chromosomes / 23 ST IO

9) The barriers created in communication due to the dual meaning of words is a:
/

real & Y T F FRUT FAR A @ are aee AT §:

1. Educational barrier to communication / ¥aR & forw dfeies sem

2. Psychological barrier to communication / ¥aR & foIT #A«Idaias arer
3. Semantic barrier to communication / TR & AT eregrdl arem

4. Environmental barrier to communication / TIR & T gIaioiiy arar

Correct Answer :-

. Semantic barrier to communication / TIR & AT eI reaw



10) Erikson believed that healthy development rests on: /

REFT FT AT O F Tavy Rew @Ara w AR wwr §:

1.a conflict between masculine and feminine elements. / 9% 3R & dedl & & Th
Ty

2. a conflict between syntonic and dystonic tendencies. /

AT 3R fq@aeaRd vgiadl & & v dqay|

3.a unresolved Electra complex. / Ush 37THelSI Soldrel HANIY|

4.an unresolved Oedipus complex. / Ueh 3eTgelsll STSUH HANIT|

Correct Answer :-

« a conflict between syntonic and dystonic tendencies. /

FAEIRT 3R fq@aEEaRd vgiadl & &t dqay|

11) Thinking is essentially: /

Ras A ¥ & ¢

1. a physical phenomenon / Te #ifas gcar
2.a cognitive activity / T FAcHS Ifafaier
3.a psychomotor process / Ueh HAIIIUI 9shal

4. an affective behavior / Teh JHIGATT cTTER

Correct Answer :-

. a cognitive activity / Te JATAlcHSD AT

12) Mnemonics are: /

wHfa e 8

1. Economic aids / 31¥e ggradr

2. Memory aids / ¥Hf TgraH

3. Magic words / STigs 2rsq

4. Theoretical steps / deuifas axor

Correct Answer :-



« Memory aids / Tfd HggH

13) The roots of Dialectical method of inquiry can be traced back to: /
ST #Y gEearcAF YU F He FT UaT 3% AT § AT ST Wehal

1. Bertrand Russell / s¢3 3@

2. Plato / Teler

3. Aristotle / 3E&q

4. Socrates / galld

Correct Answer :-

- Socrates / ghId

14) Which of the following observations supports Howard Gardner’'s theory of
multiple intelligence? /

frIfaf@d # & Fia A1 saeiha §as AT F FE-gaT F Weed B FARST H

g2

1. All intelligences are similar to each other. /[&e §ef&ACAIV, Uh-gaX & HAT Bl
gl

2. Intelligence is an interaction of analytical, creative, and practical intelligences. /

9518, TaRANUTIcHe, TeilcHs 3R cATagTRe Jefaadr I Teh Ha:fhar gl

3. It is impossible to mold all the intelligences in a classroom. / T H&T H T

JE[AATI3N @I STl 36T F

4. Different intelligences are hierarchical in nature. / [af#==T gef@dcame, ghfa &
qeleIshide Bl &

Correct Answer :-

« Intelligence is an interaction of analytical, creative, and practical intelligences. /

9518, TaRANUTIcHeS, ThelcAs 3R cATagTRe Jefaadr I T Ha:fhar gl

15) Which of the following is most important in the process of learning? /
sfterr i wftear & ey & & F7 waifos sAgeaqet 87
1. Economic condition of the child / s=a &r ¥+ Tufa



2. Cultural background of the child / S=a &I HiEhides e
3. Style of learning / 3f&eTeT Fr Aelr
4. Examination result of the children / STd T 9{ieT aROTH

Correct Answer :-

. Style of learning / 31f&erad &T At

Topic:- HINDI

1) AFE-gATST 1 R gaEEt A gase & @A &)@ I 7 3ws AR O ) §
Teq 39T 8 g 3T, e, ar aeeifas @ w1 qeafde R ot ) Aqsg-shae
¥ aR® IR T 9a7 F wAfraa Rew & ao-wrr afecr 3k wwfa &t ot 7
feaml qeanfae e & w0 & g oiFq, afFa ik wead & ofdT @ 1 AnreER g
gl

yed 4: 3+ RORS & Fm a7 w

1. HIST-SMael & 3cAReh 3R S a7

2. 390 q FIg el

3. 3oThT 81T UId: 31Tk, ATATeIeh AT JSTeilidsd &l I@T
4. @lfgcd AR TEpi

Correct Answer :-

« 39T T U 3Tk, TSI AT TST=tide &f L&l

2) FE-gATS H AT gEEst # gawm F Qv &7 g F aw FAars @ @ F
Weq 3aHT 89 T 3T, amnfaw.ar aedifas @ w1 qeanfde R st ) Aqs-shaa
¥ ai® AR T 9a7 F gafrad Rew & wo-ay aite 3k o # o 7
feam enfdT Rie & w0 7 g afFq, afFa ik wead & ofes @ &1 IR @i
gl

U 1: AG-—AATS H $id @ A §?
1. AR TATH
2. gdcd HATH
3. Sgsilfe FAH
4. gfqa gaTH



Correct Answer :-

3) FE-wATS # faffes wAEaEt # gawe & v & g # 39w Reans & w §,
Teq 3T 8 9 3T, amnfore,ar aeeifas @ w1l qeafde Re ot d Aqsg-shae
¥ snai® R aew 97 F gAfad R & wu-ay @t ik w5 # s Aee
feaml qeanfae e & w0 & g oiFq, afFa ik wead & afdT @ 1 AareER g
gl

eeT 2: 3TA, AT, Toielifas & $led AT ToqT IgFd g3 82
1.5% JcIg
2. T G
3.3% Ycdd
4.% YcIg

Correct Answer :-

4) FAE-wHAe $1 AffeT gAent svgasma F T g § 3w REans @ w8
Teq 3AHT &9 W 3T, aEifere, ar Terdifas @ w1l qeanfde e ot a Aqsg-shaa
¥ aR® IR TET 987 F FHleaq [Aew & TU-017 Aoy IR FFHfa a1 it 7gea
feaml qeanfae e & w0 & g oiFq, afFa ik wead & ofdT @ #1 AareER g
gl

TR 3: 3UAFA HTAT FT 3T i qaEA?

1. Teanfde g 3R FoEgw

2. IEanfde g

3. qeaNfae g o 1 &

4. T%ANfde TOE & ®9 # g Hidhd, AT AR TEh

Correct Answer :-

5) CANCELLED
St AT F1 TFR T FY, 3 FeT -



1. Ay

2. 3Tady
3. JAATET
4, 3fazT

Correct Answer :-

. fady

6) ‘Uag wa fAfe, 3rag R o1¢ |

T | 8T | 9RA g&em & &t oIS 11 - Ig 6iFaar fradr 87
1. THIT e feemma

2. iRAeg ERYTeg,

3. M UTSeh

4. sloigld Ycodlehl

Correct Answer :-

. aﬂ«-‘lrg gReTeg

7) 3 AT T NS 99rET, AdET HT T § -
1. fAfgea g

2. HITATA HT TERT T gledl

3. g #1g T el 7 @

4. STTeTaR. Gell SISl

Correct Answer :-
. ST S g deey 7 g
8) W 1936 é.ﬁmﬁaﬁa@uwﬁufrmaﬁwmaﬁ%&mﬁmamﬁgsm
1. TGAS
2. HIgTeT
3. fgeelt



4. ST

Correct Answer :-

9) guifafer # =l @1 waw B2
1. AT HATH

2. FHURY FATH

3. gded HHATH

4, ag‘qﬁ‘% A

Correct Answer :-

o TANHT FAH

10) fFsr F ¥ Fi-# wgfr 78 wfaar A 7 R & #2
1. afgeaay Sfaa & wfa 3icaday safea o ufafshar

2. 33{fcY T ATATOThT

3. go el FUTAEAE] e

4. GIAISTS JUTY & 9fd W@EFArEr efecshior

Correct Answer :-

. FATSS JATY & gid EEIAEr gieeahior

11) T0& & BRI & da0i & § AT & § Fla-w Fua e §2
1. 988l H HEUT T I JTeIdr gl g

2. YIUT I HAUTHh difeher 31 Hidepfodd gIdT 8l

3. 4107 H U & 37 3R TH & 9T g g

4. ATCH AT FAT gEad iR sfagr Rey g &

Correct Answer :-

« UgHT H $UT T T TUIAT glaT &l



12) 3 FaF 7 TR F o A BB I, 3797 § e A Fla-ar A 79 82
1. Y8 dehdl

2. dI¥d dehdl

3. cYIehIUT dohdl

4, 9¢ Ishdl

Correct Answer :-

o c[enUT dehdl

13) IR SR A ‘AT H TOF & fraa a fre 2
1. AT

2. TANE

3.qH

4. 69§

Correct Answer :-

14) ITETE FAeageR dTSTIAT FT FFT YFR FT AT AT AT 87
1. &aTET

2. Gisaqardr

3. AAITIRAYOTATET

4. AT

Correct Answer :-

15) FgedY AT Fa TG F X@w @ f@wr 74w 372

1. sfagr
2. Sira=AT

3. GEATOT



4. 3@T

Correct Answer :-

16) JEfd & &F #H oY WASEIG AT FAE §, difecd & 87 # af e &
1. 9IeTdTG
2. JeTfdaTg
3. BRIMEG
4. Qfdare

Correct Answer :-

17) 39a e & # el §) -39 a9 A W a7 & By gH5R Fia-
1. 519 3Hel gl I T (G Ao §3T

2. 381 39T HI AT S|

3.3 el 3R a8 RSy gl

4.9 STeiaT o7 & a8 fAgy §

Correct Answer :-

. 38 39 HI AT Fam|

18) wF Rufy & a5 qud Rufy s - fFw qgmEy #1 ad E
1. fSStelr Ta#HeRaT

2. STl thehedl

3. FHIST ST TGTST Tgall

4,91 H @Il gl

Correct Answer :-

. G H TS glell



19) g W ¥ - SHA FIT W IFT §?

1. YReAdideh didy

2. s a

3. ATATAIdh diarg

4. Atrars g

Correct Answer :-

20) Sie ST HeTaX FT 7Y ¢ -
1. geTdTel glell

2. Read ofer

3. gy fe@ e

4. 39T T

Correct Answer :-

- Regd o=

21) fI¥ I[od @1 9, 38 TH Aeg H FAT Fgd &
LIdq

2. MY

3. forsiifasm

4. et

Correct Answer :-

22) F=HT U GIAT § - S T FT Haras aFT g9 -
1. 93% & gl & A @I S g

2. TSH o Fgl fh g AL Wrar

3. 5% o U WS




4. & T3H & GaRT WIS AT g
Correct Answer :-

« A& 5% & GaRT i AT gl

23) g X SATHT - SHA FIT AT AT B2

1. YRaddideh didy

2. s ag

3. ATATAIdh diarg

4. AaIS g

Correct Answer :-

o JT3ATdIdeh diasrd

24) gH WX 3N - I F AYYATEF =T {9 -
1. EX JH 30

2. JH Y ST Hehdl &

3. JH B A S

4. JFE W ST 2

Correct Answer :-

o JH WX AG ST

Pl

25) g3« &1 9 R<dg &l a1 &2
1. 9cg+&
2. JdT+Teh
3.9 + T
4. 9fa+Teh

Correct Answer :-

. gfa+ts



26) 3 ATE | GH GUH 3T A - FlT AT AT §?

o

1. laragaras arery

2. YRdddideh didy

3. ATATAIdh diarg

4. ANtarEs g

Correct Answer :-

o

Id&HAddIdeh diad

27) $eTaTe. JFERT ATAT WHS X - HleT T AT 82

1. gTS5Idideh didd

2. AEagas ars

3. Gohddrdeh ey

4. Gegardeh e

Correct Answer :-

o STtldiden dlad

28) gAdE & e 3I9-AE & ‘Fue Sad F1 AgrHT FET AT 82
1. 3MeTed

2. FIATHT

3. HHATA

4. 9ol

Correct Answer :-

29) frw Hfa & TET A Rgrawr f qdlr Fa1 82
1. AU g Tty

2. AR

3. 3THR g



4. JerieT

Correct Answer :-

30) fFY FTeq-Hahel & fAT FAgRd AT F HARAT AT [WEFR Yo BFar = 372
1. AT

2. R

3. greged

4. qrafRrar

Correct Answer :-

31) e & ¥ T FT Hla-ur A7 AL 2
1. GFATET & 99

2. 2k 97

3. 9YUTS 99

4. {7 99

Correct Answer :-

. HIST 9T

32) faes & & FlT YFA I F HTAaF AE 87
1. AHFAR TH

2. §AINT 9ATE gfaaar

3. faeaanry gare @

4. sTolcedaTd

Correct Answer :-

. IR 9AIE gfaddr



33) fav & & Fia-ur A9y vwR B & yafaa 7@ 872
1.c99g faey
2. dfferd fasrer
3. 9ard fAeer
4. JTIRF faey

Correct Answer :-

. yarg ey

34) v & & Fla-ar AT FT q07 AL P2
1. 3R &I FAT

2. G&cAdr

3. IG%h T Iiddcd

4, {T9 YJUTAT TG Toitd AT Aol

Correct Answer :-

35) et & ¥ FlF-1 ACF FAGATT FFAAT Fa AT 82
1. 39 IS gerir

2. T

3. TS

4. 37TSTG &7 Uah feaT

Correct Answer :-

. NG T Uk Tl

36) e H ¥ STAUHT WG GART AT T Hhe Y 82
1. 9lg T #Hg T &

2. 3{eATTHERT

3. elgd



4. 5 IgR

Correct Answer :-

37) fart # @ Fi A gAgor At fQAvar adi
1. FEESET
3. FiaTedan
4. Harcgeirerdr

Correct Answer :-

. gareefrerar

38) fArfaf@d & & Wy 5y ufa & a& a=r smwan?
1. 3TgT faHTa-3rgemma T et Fared o @l

2. STEl Tk &Y T Fr I-ar &t &l

3. 3161 T I STl hT FeAT 3Hh ATH«h HAel GaRT iV |
4. TH o 3N AT 3eIgel IuIT g3 &l

Correct Answer :-

- TH & 3 H Iefehel ot G &l

39) farafaf@a & @ ATy #1 wla-ar amer 78t 32

1. IRA-Fer=oT

2. 38R

3. M

4, GEATIeT

Correct Answer :-

« RF-RF0T



40) ey fAfy &1 7 W 37
1. @USSTr oy

ACERCIE]

3. A fafT

4. STEAY fafg

Correct Answer :-
. sTEAr fafy
41) ST Usg AP F Faa 30-Ag @ 2
1.t
2.ar
3.9

4. et

Correct Answer :-

42) AT A TANT @ aret AT A FEd £
1. IO

2. ATy

3. Sy

4, SITY

Correct Answer :-

43) 3qat He AT cg aoren, Awifaa w1 3d ¢ -
1. 3791 IR G el

2. At T Sielerm f&@rer
3.3TC|FTE|#E|§HEI’IT€TWFIT



4. GEX I AR HIAT

Correct Answer :-
o 379 GRMET FGT HLeAT
44) FAYS, A, 39 A w av fAwedt & ¥ frad waar &2
1. #AGICT
2. AT
3. ufeica
4.3

Correct Answer :-

45) myfas arcd amisi F1 wavys aeffstor e Reae a B
1. S1.4R= qnf

2. 8.5l R

3. S1.U.UW. 3R B

4, HETAR YT fgadl

Correct Answer :-

. SLUUG.3R.EAA

46) &I & ITUR G HIT-TT B¢ Q18T &1 QAUNT AT ST 872

1. 9iaTS
2. GR&T
3. gadar

4. Y

Correct Answer :-



47) R #r ggelt Afen Ferher FA A@T ST 2
1. Few] $SRY

2. 991 Afger

3. [RIarEdT &t

4. goTeT FANY AlgreT

Correct Answer :-

. T Afger

48) R Freg F N sRER I ¢, T T sumaw vd Fefadl & wost A 7
gl

1. refy gar
2. amag’ gar
3. QHG ga

4, SIS 9ITG g

Correct Answer :-

50) f§dY &1 9gaT FARK 99 87
1. 3¢d ATIUS
2. GrHCT HATIUS



3. 99 Iale

4, JeH YR

Correct Answer :-

. 3¢d HTAUS

51) IFIT QY FFI 1Al §7

1. STgT olieh a7 Aea-faveyr gufer gl

2. STg1 3ellehyafold ArENT IR e T AT gl &

3. 5781 37 &1 goifa & & &l

4, STgT ATHUT SierdTel & 2Tsal Hr fAse aifged & wrer g gl

Correct Answer :-

. ST8T 1T ST & Asel Hr fRse @rfgedy H gAeT g gl

52) gaeT fAds AT 9 4@ ¥ q@ Sfea 7 |

T YT REFa-ar g 39 BAeq wawT 7 11 v gq iFawt Fer 7 fvw ar )
1. AGICAr gAT

2. ghHid RIS ferrer

3. giAATees de

4, STIAHT YIS

Correct Answer :-

. STIART GIIE

53) AR & #l7 @1 AW &2
L dcqey AT

2. FHYURY FHAE

3. gded HATH

4. gfqa waTH

Correct Answer :-



;4)m$mﬁﬁﬂamaﬁmzﬂwmmmaﬁ—m
I

1. SITAART AT

2. fasg

3. HORT TG

4, 3-1?1'3413'

Correct Answer :-

. faema

55) ‘SIATEIE ec HT TIH YAIFdT fhd AT ST 82
1. JTEITHSOT INEATHT

2. e THEeS, ool

3. SIA JHIG

4.Wtrr0§zr

Correct Answer :-

« HAFCEX YUsy

290

56) ‘qTFd THICHS HIAA’ fhe AT gaRT & 71§ Feg-aRemT §7
1. 3Ta faeEary

2. ARy gudr

3. A AFAC

4, 9f0Sd el SHETe=ITY

Correct Answer :-

N CID R CEEGIE)

57) ‘Ratarer fFd HIST FT ereg §72



1. 3130
2. BT
3. AT

Correct Answer :-

58) ‘fafts’ ‘arer MAW FT FTHeT ‘diell Sadl arelt agdhr ‘Agaew Fefadl & FEEPR
FiT &7

1. 3sgel TSfEACeE
2. AACT hiferdr
3. 3¢ Yehrel

4. Toleg, Ied

Correct Answer :-

59) ‘IHA FHgl 4T Fgldl HT AMGF el & F hlel ¢?

1. gdeR gIRT T8E

2. T8 T

3. 9919 &g

4. gLHTT T8E

Correct Answer :-

. ogeT fOg

60) BT & eauy e & & ey wAAT ' Fgr M@ F?
1. 3S3BTT Hiddl i

2. ARECASh & HidAl I

3. Rdeqg HSA



4. foafor wiaat v

Correct Answer :-

. dRECdH & HidAT Hl

61) ‘aTT ereg W UTg & T §?
1. AY

2. A

3.G%0

4, 37

Correct Answer :-

62) ATEl T Gaar FFwS ganr ff@a s §2
1. BUNRIT AT 0T

2. §irsH g

3. 3. Alleg

4, YA AR

Correct Answer :-

. YFHIT HARCAT

63) ‘Feleh dhelsh o WA ATehdT IFTAFM|

ar 9 SR Fr @ Rl - 59 g # FiF-A7 HAFR 82
1. §9%

2. JHF

3. 20l

4. 3aTeXvT

Correct Answer :-

o JHh



64) Y ereg fFw smwT &7 §7
1. 3T
3. ST
4. 3TT&Y

Correct Answer :-

65) sifFdaTelleT Py FEAURT H TIHATCHAT FT T TUT HAT F 7 &7 # RAfdg
faram 32

1. TAATEFT HTTURT

2. g SHIeTERT

3. FOUTHFT HICHURT
4. JTATHAT HICTLURT

Correct Answer :-

66) Thrgr # &l a1 A &2
1. dcge FHATH
2. 3ded HAN
3. Sgsilfe AAH
4. gfqa wATH

Correct Answer :-

67) Administration &T & FT=a<or gxar 82
1. ST



2. 9T
3. ATHRIRT
4, 31TRIY

Correct Answer :-

o URMAA

68) JATgF FT W faTdg FiaT ar &2
1. A+

2. AT+3H

3. A+3H

4. ST+31h

Correct Answer :-

. A+3H

69) forg 9 g & T fFar 3R vF w41 8§, 3 Bl AT FE?
1. fauTer arge g

2. afr g

3. 3T drerd

4. GF qH

Correct Answer :-

70) yfagy fa ‘Rordh faeg fAGm =Ry, $isT Fa1 W §ART & @ar Fa s G 6 §2
1. TAUT g feaaany

2. QATHATST UG

3. gRpeoT YA

4 ol AN <erer

Correct Answer :-



71) goromeT fher a1 & avelr STl @7
1. HYRT
2. ATeldl
4, HaTd

Correct Answer :-

72) seltr wfeure Ay medt g A fFae srasd F Aewar yerT B w1E
1.20
2.22
3.24

4. 26

Correct Answer :-

e 22

73) §Fpa el ¥ RAFHRAT el A FEd & -
1. SIS

2. FeHT

3. AeqH

4, fagerst

Correct Answer :-

74) o IS Ay & Fla @ Redvar 7@t @ ¥ -
1. 3= ST Fhgh RIS 3 FoAolr A1feT



2. [eetr fordll AT 3¢6ea TuT Ush AWy &l ofe for@r S @mie el
3. Feey & 3O Ipeoe # I FE TS Tl Tl F AR A AR
4. TOORT § WER dRIFIT 8T ATMgT|

Correct Answer :-

- 39T ST AT IR AT a1 g AR

75) @ Rw v Rwredt & & Fla @1 e F7 o1 82
1. STATHSHAT

2. eIl

3. GafTdATcHAT

4. fToaRT fr Tarefierar

Correct Answer :-

. fart & warehearn

76) FEUT AAT T A FA dled Felferal fodl, 3§ -
1. AT & TWATS!, o8 T el A g8 T &
2. STHE T SIEM, 4T Hlehr N e

3. G@HY Siiae, §e¥] $T Hier IR 38 el AT
4,381 gl U1, gfaeafa, iR gEag shad

Correct Answer :-

- EAT Sad, e H Hier IR FHA Fegr AT
77) eeH™T yAR GAfA, aul § gEaas 42
1. TER Jodds gl

2. FGTCHT aned

3. 9fUsd FAAEIdTdT g®
4, Y. IMITTaRY

Correct Answer :-



78) Rt HfAar # wAlEE F1 Yadd FH Feg-GFdas d AT FA1ar 82
1. GHU Hech

2. dARHCAHR

3. Fo&TT

4, 30gTeg dIom

Correct Answer :-

79) R & Wi ey & v F9-3 iy sfdgy &2
1. hERATY 3IdTel

2. gdHid R farern

3. Fdrge aredT

4. ST

Correct Answer :-

B FEIEGRUCE]

80) Ie[EAR Iad H ARAFT SForer F1 yfafafer g

L8, A

2. 3,3, 0,3
3. 5,31, Ulod,H
4. AAINIS
Correct Answer :-

\\\\\

81) &7 WYFA sdo FI AT frer oY quit & WAl § gIw 2

1. H+T



2. T+
3. H+Y
4, F+

Correct Answer :-

82) IE-TN & T AT FH &2
1. 3STAHATT FATH

2. AR HATH

3. HHURY A

4.¢dcd GHE

Correct Answer :-

83) YT AT - FAgIAR FT 37T §2
1. 3T SIAT

2. 9dTl ofdTeT

3.997 O P STl
4.39 S

Correct Answer :-

84) §ifa FFuE F vadF fRA AT STaT 87
1. ITAA

2. 3637

3. 3fTgarTd

4. GUST

Correct Answer :-



85) gedt, e, iR, wIus frw o ofaR & R # era eeq §?
1. gfag & 9Rar

2. 3 #T 9RER

3. GA-gIHAT gRaR

4. AeA-Tsacy

Correct Answer :-

. gfas 9T gRar

86) fasIaT & M § -
1. TSTATST

2. ATTHTST

3. Ueh 9id &I ol

4. Teh &2 T H{oT

Correct Answer :-

.« Th 9id &1 drell

87) 34efy RFad q@mr Ra ¥?

1. TAURY g et

2. Hgredr gAT

3. 98 led Fardr Aren

4. AT sleeT ded

Correct Answer :-

. TAURY T8F feeta

88) Fprergey frud qamr WA ¥
1. AR g et



2. QIgeT ol gladar
3. QT ARIIOT 9Usd

4. gealdel ofel g#T

Correct Answer :-

89) ‘THW & AWSF i §?
1. SL.elleg

2. {sH grg=r

3. AIR AR

4. Tt AT T

Correct Answer :-

. §H FTgel

90) ‘77§ ultr & AWF FlT 2
1. s grgar
2. YHAR $RAT

3. UegtR QAT el
4, ST

Correct Answer :-

91) quT MITE FFaF garT IR 32
1. 7@
2. @arafa

3. HYUT
a

4, ARTETS

Correct Answer :-



92) ‘X AW fhE Ag & derd e §2

1. T8 g &1 e @ Y 910 fig & 3idera
2. 9 g T £fee @ g aIv g & 3ieeid
3. 7T FY TRC A o 910 fig & 3derd

4, 31 &1 e ¥ Ry T A & Haa

Correct Answer :-

. AT d1 T T R 10 A & add

93) “RIaT AEEAY F [WATFR FieT §2
1. Gelelg

2. YT ATeg

3. geATIfd

4. 90T

Correct Answer :-

94) gHIFHIOr HT A FAT Fm?
1. GATYTT

2. folrentoT

3. fawHIsHToT

4. TG

Correct Answer :-

95) ‘qfator & ey ¥ et & @ w7 @1 2

1. 9I&qor



2. 4IRegoT
3. 9I&ToT
4. 9r&TeT

Correct Answer :-

« OIrEoT

Correct Answer :-

. gRaY T ST

97) ‘gRSHAS R F A # FAT FgT AR
1. Functional Hindi

2. Official Language

3. Working Hindi

4. National Language

Correct Answer :-

« Functional Hindi

98) g’ &1 AT FA1 92
2. THJSE
3. 3rEand
4, 3THAY

Correct Answer :-



99) ‘qdelt FIe” Fwd gErr WG Ty B2
L. ¥Xard

2. AT {gFAC ST

3. Jerdiler

4. Goleleg

Correct Answer :-

100) St BT URHHA FA 3¢ Thadl JaT AN -39 IT9T F W 9T Fem-
1. IR%# & BT F Theldl G|

2. 9R#HT BT 39T Al BT

3. FAfh gRaET ©F Thol gl
4.mmﬁqﬁwﬁwsﬂﬁvagwgm

Correct Answer :-

« IR ©TF 39T g% g



